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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed (any ten) :
1x10=10
iR Rt Te fm (R e wd) :

(a) ‘‘An argument is merely a collection of
propositions.” Is it true?

“qor Ie T @F R R R 1
T oA 27

(b)) On what depends, the validity of an
argument?
IR g Rrzg e ST 309 2
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(c) Give an example of class membership ) ) .
proposition. | (h) Does a .variable contain 2 definite
, meaning? :
TR T b e Wmﬂ;‘amﬁﬁ@wdwv
‘ ; \D {
(d) “A valid argument can i L : .
] never have true ‘ (i) Find out the alternative proposition from
premises and a false conclusion.’ | the following :
. (Write True or False) " oo FRAIEART °1 (e Jo-co! iR Sfere
Y !
mﬂi’ﬁ’f@wmw 9Bl pTey (i) I eat rice or bread.
T8 PO AR I | 2 oo w9q #6 IW |
(3161 7 iy foran) | (i) Either he or I shall go.
(e} What j . o8 T R
o Is the symbolic form of universal i) He is ali dead
gative proposition? (iii) He is alive or dead.
oS Qe TIW |
RE el T ST o 71 9180 s 9 | *
o ] 1 (i) According to the rules of syllogism, if one
(f) What is the name of the subject of th : premise is negative, then conclusion will
conclusion of a syllogism? e ' be .
; (Fill up the blank)
TR PraTes S b R 2 | i
' | I SR P SR, W 6B S o
. el =, (R Pl ____ X
“ :Vhl ch is the symbol that indicates the ’ ’
orm of a compound proposition (‘ﬂﬁlﬁ"ﬁ‘l W)
symbolic logic? n
gl | (k) Is truth table method a decision
qﬁ;lﬁilﬁﬁ‘ SHRETS @ 1S o — ‘[ procedure?
TS “qfo® 33 2 ' Serel SRR S Wbl CTaIRT “afS WA ?
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(4)

() In obversion, there is a change in the
quality / quantity / both quality and
quantity between premise and conclusion.

(Fmd out the correct answer)

3"\"%“‘\9 R I DEey e 81

AT / R oRada /@ @ AR
TS R = |

(ww Seach 1R Tfred)

(m) Mentiox.l one important relation between
symbolic logic and traditional logic.

TOPIF SHREM o sg@ioe SHIET
S I 4Bl TGl T S 41 |

(n) ‘BOCARDO’ is a valid mood of the

2. Answer briefly (any five) :

(5)

vt Ga fomn (R o <fob) -

(a) Mention two characteristics of argument.

e o1 (e T 0 |

(b) State two differences between proposition
and argument.

757 W 3R e < 1 N fora

(c) Are A,E, 1,O propos1t10ns categorical or
condltlonal‘7 Which term is distributed in
a negative proposition?
A, E, 1, O ToAQR FReer® ¢ e ? Tl
oS & o WL ?

(d) Define one-predicate proposition  with

2x5=10

figure | example.
' | % R T ST ke i |
(Fill up the blank) |
BOCARDOQ’ FKEFR 51 234 ‘{ﬁb‘ | (e) Name t.he authors of  Principia
- ) Mathematica.
q 341 :
(40 3R 1 Principia Mathematica SRR T A ?
(o) Who is th :
© father of Logic? () Define immediate inference with example.
\9*‘%@[;@ '
| S 2 | AP S S e A
]f | 22A/1229 ( Turn Over )
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(6)

(g) “.He gave me a nice present in my
E)lrthday. * Find out the ‘referent’ and
relatum’ of this proposition.

“@8 &0 Wﬁq‘@ \ﬂ’m W %m ﬁiﬁﬁ!”
R T e e Ty TR SR

h) .
(h) W_hat is the fallacy of undistributed
middle?

SN R O P A 2

3- . : ‘ y
A:}swer the following questions (any four) : 5"4"20

AT s o (R e w1f61)

(a) Write a short note on (any one) :
o R BT (R e )
(i) Truth and validity

Tore! 1 (35
(i) Square of opposition of proposition

T Ry T 9ot

(b) Whag i o
tis symbol? State four utilities of U5 s
144

~ Symbols in logic.
R e

22A/1229

(7)

{(c) Transform the following sentences into their
logical form of propositions : 1x5=5
o il TR SRS o TS
0

(i) All that glitters are not gold.
SFCEN RO I8 G T |
(ij) Every man is liable to error.
oifem TR T |
(iii) Lions never cat grass.
ey efome IR E |

(iv) Almost all people are present in the
meeting.
o STCA TR T Totfyre st |

(v) Only intelligent students can pass the
examination.
e AR FEACHR TS TS 27
A ’

(d) Whatis simple proposition? State different

types of simple proposition. - 1+4=5
e o IR (A 7 T TS RiSH 2FFTR
3, T I
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]
(8) (9)
“(e) What is logical co i i
i al constant? State differences .o questions (any fouf) :
thYveen logical constant and logical 4. Answer the following 4  10%4=40
variable, 2+3=5 e et o (R e mﬁﬁ)‘ :
o R et : o
i TE Q1?2 oy wRe@ T syllogism and -explain  its
b e <y ML Bt | (a) Define ) y 2+8=10
| S characteristics. '
@ t‘:h:t is ;Conversion? Make converse of R i e S 2 BRI ¥
¢ following propositions : 2+3=5 " 9 Explai
, _ i ain
TG I Qe What is figure of syllogism® TP
! TS S T b~ of syllogism with
FAET 3 dlﬁeretllts e 2+8=10
. , examples.
ST . T REA g
Y R o | R e I ¥
(i) No is pe
men is perfect, Define a proposition» according to the
CRIET TR 7y il (c) odern logicians. Describe different kinds
ition with examples.
| (iii) Some men are honest, of compound proposition 248210
| &W’ﬂ’ﬁ@vﬂﬁq i e, W rE i
‘ - Al : i DE T
(8) State the general rujes of syllogism TS T e Rfew 4R
. : 5 '
T T RS Sy ey | 7 41!
: i : . in the rules of
) . .« obversion? Explain
(h) Explain four-fold scheme of proposit; (d) What TS Y 2+8=10
— Posttion, 5 } obversion. :
T ARSI e ey ! ey o A7 ST PR
o —y
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(10 )

(e) What j
18- symbolic logic? Discuss the

)

(g)

(h)

22A/1229

4+6=10

AT SR
P R 2
le W

characteristics of Symbolic logj
c.

Explain gj
- ifferences between traditi
and symbolic logic o

SF ey
mw@om*ﬂawmf¢wTW$ R

10

10

(i) (p.q) V~(qu)

(11)

wing with the help of

(i) Symbolize the follo
ropositional

Jogical symbols as used in P
logic : . » 2x5=10
TER SHREre IR A o8 4O
RS woe A oS i i -
(i) ‘But’ 18 truth functional, while
‘because’ 18 not truth functional
‘g OIS smmz@ ‘R
SRS T |

(ii) 1t is false that Lovlina Borgohain is
not an Indian boxer.
oz w9 wArefert
SRR @R !
(iii) You. will pass i the examination if
and only if you work hard.
ot oA T o 1 o TR 2R

38 !

TR, AR

for shopping :
<t T , (9 iy IR IR
9 |
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(12)

G) Eléborate the  differences between
deduction and induction. 10

o S SR TS 9] SAIFRAR IR
foram

* % &
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